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1., Ex Press revenus as a Imction ol Twao r|||:-|r|li|:.' demand price l:lilir"‘-
and guantity, assuming that demand price is a linear lunction, where
the guantity demand-palrs are (0,200 and (101,19) and the guantity is
145.

Ans, Revenue () = 2y ——I_u':

Hevenue [ 148 = 274413

2. The function is fix, ¥} = x* + Zxy + ¥
Pi= (9.3) and Piaddef )

a. Give the ZIWNEons of onewariable™throteh P obtainet holding each

variable clpstant
Ans.
F(9, v} =B bl 7 -
flx,3) =" 9"6x + 63
b. Find the partial derivatives of the ariginal function.
Ans
felx, )= 2x + 2y
flev)=2x 4+ 14)
€, Evaluate the partial dernivatives at P
Ans. [ [93) = 24
£.09.3) = 60
d. Give the equation of the tangent plane through Py

Ans, f(312}= —&
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. The function is fix, ¥ = — Fi= [(8,3) and P: = [4,9)
L™ =y

a. Give the 2 funcoen of one variable through Py obtained by holding each

variahle constant.

Ans. f(B.y) = —

) U
L

FI
i F = 1
s 9

i, Find the partial devivatives ar Py

Ans, fo=

(= + v 7y iv)

I [I1'+ :|_r-l!':"'_:'

. Evalugtethe partial derivativesat Py

Ang  RERG ) =
Ans. SIS ] T

war

kT
L
P I i

FB.3) =

d. Give the eguation of the tangent plane through Py

. L3 A LAY <]
Ans, fley)=——+4—+ —

¢, The approximation at Pz abtained rom the tangent line
(=]

Ans, f(49) = ;.

This list comprises some of the popular WebWork Answers for you.
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4. The function is (x, ¥ - (x+ 6% . Py= [10,-5) , Pz = (2,5)

a. Give the 2 functions of one varmable through Pyoobtained by holding each

'|'|I'I.-II'|:I"IIII"'\-||I"|
Ans fO10, v} = 100{10 + 6*)

Flx,—5) = x"{x +67°)

b. Find the partial derivatives of the ariginal function

Ang, fL(x,v) = x° + 2x(x + 67)

Folx, v) = x* (6" Logm)

C. Evalugi@the partial derivative$stR

Ans. [, (M5 = 20

X E!

10, — S fri“. {ngh

d. Give the eguation of the tangent plane through Py

1 S L Shplizigh IEHHIEES
Ans. fix vl = i = _

T IEEE] 1944

e.The approximation at P; obtained from the tangent plane.

Ans, f(2,5) = ZHlege 2TEIE1

1044

EJ
[ =]
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5. Given the function flx, v) = x* + 2Zxy + 10y* + 3x

by
a. Find the partial derivatives of the original function
Ans. [l vli=2x+2v+ 3

_|._|:.|.'.'_| = L4+ 20v 45

b. Find the critical point in the region

Ans. The paint is (=g —
(1] ]

¢, Compul@the discriminantat th&o Bwos! paisis

Ans. Thediseriminant is 36

d. Determine if the critical point is a maxima, minima or saddle point.

Ans. Maxima.

o, Given the innction flx y) ™+ T ¥+ ZI'|"' + r— 7%
a. Find the partial derivanves of the original function,

Ans. [y, vi=2x+Tv 41

flx, vl = 7x + 6y
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b. Find the critical point in the region

.“ns. 'IA:‘.O_" p()“]: is : : .\ ! :

C. Compute the discommimant at the cotical point

Ans. The discriminant i1s -37

d. Determine if the critical point is a maxima, minima or saddle point.

Ans, Saddle point,

Giveg the function /Ta ¥ = #1y — 4x° 4 3y 9 -8By

a. Find e partal denivatives ol e anzn uretion.

Ans. LR Y) = 4y -~ 8x + 9
folx, Ve Eragagy - 8

b. Find the critical point in the region

onb ) .
Ans, The regionis ‘— o |

¢. Compute the discriminant at the critical point

-4,

Ans. The discriminant is

d. Determine if the critical point (s a maxima, minima or saddle point.

Ans. Saddle point,
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B. Based on the information given, classifv each of the following

points as a local maximum, local minimum, saddle peint, not a critical

paoint or nob encugh information to classiby.

Ans,
p . I | f | fex | f | Fyp | Classification |
A [ O [1 | 4 1 | =3 | Not critical |
B o 0 6 '5 1 | Saddle Point |
[C [ O [ O | B -1 | -B | Saddle Point |
D [ 1 [0 |-1 |-3 [3 | Not Critical |
E [0 [0 | -3 3 | 15 | Saddle Point |
F |0 | O 1 5 4 | Saddle Point |
G 0 0 7 1 4 Local
| Minimum

9. Given the points:

X [-7 4 [13 |25
i | -3& | 15 [ 44 | 101
a, Add a linear tradelipe, Give Ehe aguatian of the lins
Ang v = 4. 158y — L HSYEH

b. Find the values of slope m and the intercept b

Anz,
‘m 41289

b | .2.87788
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L, GGiven the p|1i||r1-::

[,
W

:.: - } I - -
v 46 12 6

a. Plot the points in excel and add a linear tradeline. Give the equation of
the line
Ans. v = L2084y 4+ 40026042

b. Find the value of the slope and the y-intercept b that minimizes the erro

function by taking partial derivatives and setting them equal to 0.

571604
40.02632

ol =

Bd
&
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